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BREA | K ki | B E 5y ss 8 W > o o %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137
1| FEOU i X 4 ek SR R 2000m T =8 10A7H = 15.3 0.5 4. 29.2 2 0.9 < <
T 14.3 31.1 4 1.6 <1 <1
o ka1 R Bt [ 28 | jopen | @ o8l 00 2. 28.9 5 LT a a
T 1.8 29.3 3 1.6 <1 <1
3| LML X e U1 H492000m 40T 28 open | = oo 00 5. 80.3 2 0.7 a a
T 20. 2 31.2 5 3.3 <1 <1
- . . . & 0.5 27.1 5 1.7 <1 <1
4| FRET T FEL )1 91569 1000m ] 56 Bl 1046 A 9.2 3.

(Bl - FEARIS T RET AT e T : 8.2 30. 8 11 4.6 <1 <1
) #Jg 0.5 30.3 2 1.2 <1 <1

5 Yt [#P#91000mfs} 3T = 1046 2 12.5 : 4, : :
MRS AEIFREIL000nRT T J6H 11.5 31.0 4 2.9 <1 <1
6 /NI 1000m e 3T =8 10A5H = 11.0 0.5 1. 28.2 1.9 <l <l
T 10. 0 31.1 10 6.0 <1 <1
7 FH )1 1HK92000m s 3T =8 10A5H = 15. 6 0.5 2. 24.7 4 2.2 < <
T 14.6 31.2 11 6.3 <1 <1
8 REJI 7K 1000m et 3T fg 104200 i 13.1 1(2)‘ ‘? 3. i? ; ; 1 i : :
TR R AR E3E 0' 5 29. 6 7 3' 4 <1 <1

9 & ) 119 1000m {3 = 104200 i 10.8 : 2. : :
T 9.8 30.5 6 3.5 <1 <1
10 AF NI 1000m e 3T =8 10H19H = 11.4 0.5 1. 30.7 1 5.1 < <
T 10. 4 31.4 14 7.3 <1 <1
11 7 FLJVRAT 114 1000m{<} 3T =8 107191 i 11.6 0.5 2. 311 > 3.3 <l <l
T 10.6 31.8 5 2.2 <1 <1
12 AR 14 1000m{<} 32 fg 10H19H = 11.5 184 2 3. 28‘ ?; i 1 é : :
Wb TSR E3E 0' 5 29. 7 5 2' 6 <1 <1

13 B HN M9 1500m 3T = 107 14H = 17. 4 : 3. : :
T 16. 4 30.7 4 1.9 <1 <1
14| i EE Ao domiEE|— 28 | 10g14R | & e %0 4 27. 1 L L0 < <
T 15.1 31.1 3 1.7 <1 <1
15| g 45 1 40 1000m o 37 B ogup| = .6 %0 5. 29.6 2 L1 a a
TE 17.6 31.2 5 1.8 <1 <1
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No. 7kiﬂi% :BKE& H 35{% (m) :BKAE{;E l/él\ﬂl-ég: ‘l‘%llj( ﬁﬂl%ﬂ%k v '7 I . {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
L[ B DX S FIRM AR A 2000m i T 10A7H = 15.3 5 77.0 b7 <10 <10 -
o) R vk R I X 1 = o3 10H6H e 2.8 5 74.8 Tb <10 <10 -
3| FE B i X Hb S ek BB ##92000m AT 10A6H = 21.2 5 71.9 b <10 24 24
A EETTE (B BB TR BT )PP 1000m A T 10A46H & 9.2 5 69.9 b 13 250 263
5% HseiEs I ##91000m A 3T 10A6H = 12.5 5 75.7 b <10 27 27
6 IS 59 1000mfs 3T 10H5H 2 11.0 5 72.7 Tb <10 19 19
7 75 7)1 #92000m ) 30 10A5H E 15. 6 5 72.0 1 12 210 222
8 e R8P 1000m A 7T 10H20H i, 13.1 7 72.9 1% <10 100 100
9 PRI HL T & )19 1000m A 3T 10H20H i 10.8 7 73.4 b 11 220 231
10 K1 57 1000mf 36T 10H19H o 11.4 5 76.0 w <10 79 79
11 e S TAT 11 {559 1000m A+t 3T 107 19H 5] 11.6 7 73.5 12 <10 59 59
12 L N KA 1 {549 1000m s 3 108 19H 2 11.5 7 75.6 b <10 25 25
13 Vb S R B9 1500mfF U0 10H14H = 17.4 7 74.9 b7 <10 13 13
14|/ 4% 1k PG 5% 2 55 2 D AL K400 m 13T 10H14H o 16. 1 8 42. 4]V b - 20 340 360
15| 8 7 IR 1 P 179 1000m A 3T 10H14H 2 18.6 8 69. 9 b <10 36 36
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